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Q.1 The value of (%)Sx (g)ox (g)_s =

[APSSB Fireman & Mineral Guard 2023]
(A)1 (B)O
(C)-1 (D) None of these
Q2. 1f 3¢ =27, then x =

[APSSB Fireman & Mineral Guard 2023]
(A)1 (B) 2
(C)-2 (D)0
Q3. The value of (V6 —V5) (¥V6 +V5)
i [APSSB Fireman & Mineral Guard 2023]

(A) V11 (B) 11
(€)1 (D)0
Q4. The value of (E)E (E)E is

[APSSB CGL 2023]
(A)0 (B);
€)1 (D) -1
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Q5. Evaluate\/41 — \/21 ++v19 —v9

[APSSB CGL 2023]
(A) 3 (B) 5
(C) 6 (D) 6.4
Q6. The value of [ 107 + 10%49] is
[APSSB CGL 2023]
(A) 1000 (B) 10000
(C) 100000 (D) 10°

1

Q7. The value of (%)5 IS

[APSSB CHSL 2021]

OF (B) 35
© % (D) None of these

Q8. The value of lG)z — G)B] X 25is

[APSSB CGL 2023]

(A)1 (B) 2
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3
©)3
Q9. The value of (3% 49 x5%is

(D) 4

[APSSB CGL 2022]
(A) 25 (B) 0
(C) 18 (D) -18
Q10. (64)73 X G)_g
(A) 4 (B);
(C) 1 (D) 16

Q11. Which of the following number is
a perfect Square number?

[APSSB CGL 2022]
(A) 20 (B) 26
(C) 28 (D) 25
Q12. The value of (-2)° + (-3)*+ 3° =
[APSSB CGL 2022]
(A) 20 (B) 26
(C) 208 (D) 25
Q13. If x —+/225 = 18, then x =
[APSSB CGL 2023]
(A) 43 (B) 33
(C) 53 (D) 83
Q14. Value of

x% b xb=¢ x* b (Wharex + 0&a,b,c €
R) is

(A) 1

(B) 0
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Q15. If (64)2-(36)% = 20z, the value of z is
[APSSB CGL 2023]

(A) 70 (B) 140

(C) 180 (D) None of these

a x—1 b x—3
Q1l6. If (E) = (Z) , then the
value of x is
[APSSB CGL 2023

OF (B)1

()2 (D)2

Q17. If 274 — 20+2 = 3 then n is equal to
[APSSB CGL 2023]

(A) O (B) 2

©)-1 (D) -2



Q18. If m and n are whole numbers such
that m" = 121, then the value of (m-1)"*1 is

[APSSB CGL 2023]
(A)1 (B) 10
(C) 121 (D) 1000

Q19. If 3*¥Y= 27and 3*"Y = 243, then x
Is equal to

[APSSB CGL 2023]
(A) 0 (B) 2
(C) 4 (D) 6
Q20. If 3%2=9%*1then x =
[APSSB CHSL 2023]

B)5
(C) -2 (D) 2

Q21. If 2¢1 + 2%*1 = 640, then the value
of x is

(A) 1

[APSSB CGL 2022]
(A) 7 (B) 8
(C) 9 (D) 6
Q22. If 3* =500, then the value of 3% is
[APSSB CGL 2022]
(") o (B) =~
(€ (D) =

Q23. If 43 x6* x10° = 2X x 3¥ x 52, then
the valueof x +y + zis
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[APSSB CGL 202§]
(B) 15
(D) 24

(A) 12

(C) 20

Q25. If (0.5) =5, then x =
[APSSB CHSL 202§]

(A) 2 ®)5

(©) 4 OF
Q26. Value of (2° + 28) x 2% s

[APSSB UDC 2019
(A)2° (B) 2°
(C) 28 (D) None of these
Q27. Multiplicative inverse of 53is

[APSSB UDC 2019]

(A) 5 (B)1
(C) 53 (D) None of these
Q28.35x 37=

[APSSB UDC 2019]
(A) 3% B) 32
(C) 312 (D) 9%

Q29. (31+51)°=
[APSSB UDC 2019

(A) (B)1




(C)-8 (D)2
-5
Q30. (%) -
[APSSB UDC 2019]
(A) 32 (B) -32
© = (D)=
Q31. Volue of (V5 — v2) (V5 + V2)
Is [APSSB UDC 2019]
(A) -3 (B)3
(C) 21 (D) None of these

Q32. Value of m if 4™ + 43=4°js
[APSSB UDC 2019]
(A) 2 (B) -2
(C)8 (D) None of these
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